FUSELAGES - USErR MANUAL

R8
o I R | IR | T
| |
T6 :T\ B
%&/Jum
T8 NN CONICAL WASHERS
CODE TECNICAL MAST | WING | SCREW | SCREW | SCREW | SCREW
INFO CONN. | CONN. KIT A B TORQUE
F603K | Fuselage 603 RS T6 MH139 M8x30 M8x30 25 Nm
F653K Fuselage 653 RS T6 MH139 M8x30 M8x30 25 Nm
F663K Fuselage 663 RS T8 MH138 M8x35 M8x35 25 Nm
F703K Fuselage 703 RS T8 MH138 M8x35 M8x35 25 Nm
F713K Fuselage 713 RS T6 MH139 M8x30 M8x30 25 Nm
F753K Fuselage 753 RS T8 MH138 M8x35 M8x35 25 Nm
FO903K Fuselage 903 R8 T8 MH138 M8x35 M8x35 25 Nm
Fuselage 1003
F1003K RS T6 MH138 M8x35 M8x35 25 Nm
PWA
Fuselage 647
FK647 , 2021 T6 MHTI2 M6x20 M6x20 1 Nm
Youth Foil Class
Fuselage 604
FKR604 ge 2021 | W670 | 127 M6x20 M6x20 11 Nm
Formula Kite ONLY
SCAN HERE
CHECK THE
LATEST ERSION
OF SABFOIL
USER MANUALS

SAB GROUP S.R.L. - Via Guido Rossa 7/9, San Mauro Pascoli (FC), 47039, Italy - Phone 0541931612 - P.IVA/VAT IT03976400402 - SDI KUPCRMI



~PIUMA FUSELAGES - USErR MANUAL

R6
o — T
6 ABC
a1 N | R0 A R 1
| T8 -5 A A CONICAL WASHERS

CODE TEICNNFI gAL Cl:\/loﬁf\ls;\ll' C\Z,E/)IH S SCKRl$W SC I?AEW SC F\éEW SC %EW _I_S(glggm
F602P | Fuselage 602 R6 T6 MH109 M6x25 M6x25 M6x25 1T Nm
F652P | Fuselage 652 R6 T6 MH109 M6x25 M6x25 M6x25 1T Nm
F702P | Fuselage 702 R6 T8 MH166 M6x35 M6x35 M6x35 1T Nm

SCAN HERE

CHECKTHE
LATEST ERSION

OF SABFOIL
USER MANUALS

SAB GROUP S.R.L. - Via Guido Rossa 7/9, San Mauro Pascoli (FC), 47039, Italy - Phone 0541931612 - P.IVA/VAT IT03976400402 - SDI KUPCRMI



